== A
N = 0] &F AF S & AN A
20208 = 20l A LEHSIH S XIAFE I
EX: XA I}
Hu: L=l ZX
SR MOl MEotN X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
=N\ 158,228,115 157,546,173 681,942
= 119,025,848
Al HI 32,913,819
Tyl 6,288,448
Lo=x =8 123,054,995 121,747,472 1,307,523
= 93,696,620
Al HI 23,875,998
Tl 5,482,377
THOPE= QI A& ol X & 114,992,001 113,129,816 1,862,185
= 91,061,298
Al 19,493,538
=yl 4,437,165
=32 X2 110,929,125 110,929, 125 0
= 88,743,300
Al HI 17,748,660
24| 4,437,165
301 et M= 110,929,125 110,929, 125 0
= 88,743,300
Al Hl 17,748,660
24| 4,437,165
01 M EXEE 4562 110,929,125 110,929, 125 0
OJl=d= 110,929, 125,000 110,929,125
= 88,743,300
Al HI 17,748,660
24 4,437,165
dZAY R34 247,958 247,958 0
Al HI 247,958
307 2Iz2to| A 247,958 247,958 0
Al HI 247,958
05 QIZ2tR E 2 247,958 247,958 0
OdzAYd R34 247,958,000 247,958
Al HI 247,958
MASE I QLA AHE 200,562 200,562 0
Al H] 200,562
307 QI2t0| & 200,562 200,562 0
Al HI 200,562
05 QIZtRES 200,562 200,562 0
ONMAS MIFEQl AIAIHHE 200,562,000& 200,562
Al HI 200,562
S2ole oINS 284,900 284,900 0]
Al Hl 284,900
301 et ™M= 284,900 284,900 0
Al HI 284,900
01 M3 EXEE 4562 284,900 284,900 0
O2ole oA X 284,900,000 284,900

_1_




A SXAS I
¥ Lol=x B
Sl WOt MBON X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al'H] 284,900
LolgtEEssAtlAs N& 3,266,340 577,132 2,689,208
2 2,286,440
AlHI 979,900
307 gl2tol & 3,266,340 577,132 2,689,208
2 2,286,440
AlHI 979,900
11T M SXASE EX 3,266,340 0 3,266,340
OkelstsssMElA XA 3,266,340,000& 3,266,340
= 2,286,440
Al 979,900
SEHLO - S S SSAT LM A 63,116 63,116 0
= 31,558
AlHI 31,558
307 glz2tol & 63,116 63,116 0
= 31,558
AlHI 31,558
05 RIZt2E = 63,116 63,116 0
O=Hke - =SZMHY SsSAHILE ML A
63,116,000& 63,116
= 31,558
Al HI 31,558
Lol oitgs & &Il M 4,752,181 4,676,491 75,690
= 1,747,117
AlHI 2,408,452
L Hl 596,612
Colwa 2EXA 24,000 24,000 0
AlHI 19,200
T Hl 4,800
307 glz2tol & 24,000 24,000 0
AlHI 19,200
T Hl 4,800
11T M Z2XASE EX 24,000 24,000 0
O 23 XA 24,000,000 24,000
Al 19,200
-l 4,800
Colgntel ¥ ASIEEX =0 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
307 21201 A 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
05 RIZt2lEt = 3,281,900 3,281,900 0
Ol AR 3,281,900, 000& 3,281,900
= 1,640,950
AlHI 1,640,950




2N
X ZH -
L= B

el

|
el ootgs & nEJIE MBS

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ALIGIZEE 29 241,940 241,940 0
AlHI 205,650
T Hl 36,290
307 gl2tol & 241,940 241,940 0
Al 205,650
- Hl 36,290
05 BIZHRI & 3 241,940 241,940 0
OAlILIoIZ2Y 2¢ 241,940,000& 241,940
Al 205,650
I 36,290
22 dutgd X2 351,000 344,800 6,200
= 87,750
AlHI 195,000
1 Hl 68,250
307 glz2tol & 351,000 344,800 6,200
= 87,750
AlHI 195,000
L Hl 68,250
11T MISRASEX 351,000 344,800 6,200
OFEY SHI| SBUYH XS
312,000, 000& 312,000
= 78,000
Al 175,500
I 58,500
OZ2E ot&I Sgddd X=
39,000, 000& 39,000
= 9,750
AlH 19,500
I 9,750
22 2324 XA 73,669 68,900 4,769
= 18,417
AlHI 36,835
L Hl 18,417
307 glz2tol & 73,669 68,900 4,769
= 18,417
AlHI 36,835
L Hl 18,417
11T MISXASER 73,669 68,900 4,769
OoZzgd 2¢3X& 73,669,000 73,669
= 18,417
AlH 36,835
- Hl 18,417
22g 29 526,200 536,700 A 10,500
Al 271,200
- Hl 255,000
307 21201 A 526,200 536,700 210,500
Al 271,200




A SXAS I
Mo poi=x 57
S Lo WotEs ¥ 1nEJE M3 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-t 255,000
11T MISXASEX 526,200 536,700 A 10,500
Od=2d 2 N& 180,000& «1950 A~ +12)H & 421,200
Al 187,200
Tl 234,000
OZz2¢ et XA 85,500,000& 85,500
AlHI 68,400
L Hl 17,100
OZ2Y dgdl XA 19,500, 000& 19,500
Al 15,600
T Hl 3,900
Dlss 22 23 N2 64,800 37,800 27,000
307 21201 A 64,800 37,800 27,000
10 ALSISXAIEEE2GHEX 64,800 37,800 27,000
onssE 324 249 N&
150,000& *367H 2 x 1201 & 64,800
F=HE F2E A2 9,750 9,500 250
AlHI 4,875
L Hl 4,875
301 LA S 9,750 9,500 250
AlHI 4,875
L Hl 4,875
01 MEIBEE 263 9,750 9,500 250
OFHE 32E A2 9,750,000 9,750
AlHI 4,875
T Hl 4,875
Z2Ye=s T2 8 22|k X 35,784 34,217 1,567
Al 17,892
-l 17,892
307 21201 A 35,784 34,217 1,567
Al 17,892
-l 17,892
11T AL S XA E X 35,784 34,217 1,567
OZ2E &3 Z2 08 2el Xt i X
35,784,000 35,784
AlH 17,892
T Hl 17,892
F2Y 2435 ALY 16,850 16,850 0
Al 16,850
307 21201 A 16,850 16,850 0
Al 16,850
11T M3 SXASEEX 16,850 16,850 0
Oozz¢ g4ds XA 16,850, 000& 16,850
AlHI 16,850
22 2l 109,504 63,100 46,404




2N
X ZH -
L= B

el

5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 3,600 3,600 0
02 =224 H| 3,600 3,600 0
OeHU = ¥ PCE% 3,600,000& 3,600
301 et A =2 13,860 9,500 4,360
01 Al B & A 46 2 13,860 9,500 4,360
ogdE g3z /=2 60,000& *231JH 2~ 13,860
401 Al HI L 2 0HHI 40,000 40,000 0
01 Al&H| 40,000 40,000 0
O3z B 40,000,000 40,000
405 XHAHFI S HI 52,044 10,000 42,044
01 XAt 2 ZF S| 52,044 10,000 42,044
O3z 23 52,044,000 52,044
Lol A MY A XS 16,784 16,784 0
203 € R F=&d| 3,200 3,200 0
03 AIZH =X 2 F XY 3,200 3,200 0
OLoHHESE gRF&X 700,000& 700
OMBH-S0IY BAMESY AREX
700,000& 700
OAIZI 22X AIE SALAF 2HE S
1,000,000& *90% 900
OEXAEA Hd2F=A 900,000 900
301 et A =2 13,584 13,584 0
01 Al B & A 462 12,000 12,000 0
OMAS LN HAEEBE S
1,000,000 x12& 12,000
0B AISIEL22JL A= 1,584 1,584 0
OLolg: HyEX 1,584
= A| 6,000 x1H*x22L x 128 1,584
LOolgdAld 29 1,989,893 2,100,245 A 110,352
= 888,205
Al HI 1,101,688
AZANE SHFH| 497,579 497,579 0
= 314,705
Al HI 182,874
307 2Iz2t0| A 497,579 497,579 0
= 314,705
Al HI 182,874
10 MM SAANEEHESIGHEX 497 579 497,579 0
OXZANE &9 497,579,000 497 579
= 314,705
Al HI 182,874




A SXAS I
M Lol=x =X
Sl LolAHAY 29 (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
LOIRAAE SAN EXN=E X 191,960 191,960 0
AlHI 191,960
307 gl2tol & 191,960 191,960 0
Al 191,960
10 AL SXNAIEEE2EH EX 191,960 191,960 0
OLQ=ERXAE SAKL SX=Y
191,960, 000& 191,960
AlHI 191,960
HAZSAH(EZAIE) 637,222 637,222 0
= 573,500
Al 63,722
301 LeBAF 637,222 637,222 0
= 573,500
Al 63,722
01 Mel28HE 6= 637,222 637,222 0
OLQ=RAE aX HASH
637,222,000 637,222
= 573,500
AlHI 63,722
LORQAANL ESAN 2ES N 236,144 236, 144 0
Al HI 236,144
301 LA F 236,144 236,144 0
Al HI 236,144
01 MI28E+06l= 236,144 236,144 0
OLEILAEE S2AXN RS2
236,144,000 236,144
Al 236,144
Mot =2XIAIE 298 X2 426,988 537,340 A 110,352
Al Hl 426,988
307 21201 A 426,988 537,340 A 110,352
Al HI 426,988
10 ALSISXAIEEE2GHEX 426,988 537,340 A 110,352
OMI=Q=ERAE (L) 2 X2
426,988,000 426,988
AlHI 426,988
LoEX elxet &= 1,320,920 1,840,920 A 520,000
AlHI 872,320
I 448,600
MOIAMSEIH=ISXI2 23 495,480 495,480 0
AlHI 353,280
L Hl 142,200
307 glz2+ol & 495,480 495,480 0
AlHI 353,280
L Hl 142,200
05 RIZt2IE = 495,480 495,480 0




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
OMEHAIZTH ol =XT2 29 495,480,000 495,480
Al HI 353,280
I 142,200
MEHAHM ==X 2 2 495,480 495,480 0
AlHI 353,280
1 Hl 142,200
307 21201 A 495,480 495,480 0
AlHI 353,280
I 142,200
05 212t E = 495,480 495,480 0
OdEHAEMN =SR2 2F 495,480,000 495,480
AlHI 353,280
T Hl 142,200
MBANSH X2 29 230,560 230,560 0
Al 163,660
T Hl 66,900
307 21201 A 230,560 230,560 0
Al HI 163,660
-l 66,900
05 BIZERIE 3 230,560 230,560 0
OdEAZH =X 29 230,560,000 230,560
AlHI 163,660
i 66,900
LOQAAL AAXE RAES 2,100 2,100 0
AlHI 2,100
201 LBH2E | 2,100 2,100 0
AlHI 2,100
02 =224l 2,100 2,100 0
OLAAL FAXE RANES
2,100,000& 2,100
AlHI 2,100
Lol=Rzg 2 HE S 60,000 80,000 A 20,000
401 Al HI K 201 Y] 60,000 80,000 220,000
01 A& HI 60,000 80,000 A 20,000
Ok =Xz 2 HES 60,000,000& 60,000
Lo=ENsd gs XA 37,300 37,300 0
307 glz2+ol & 37,300 37,300 0
02 It M AHEE 14,300 14,300 0
Oko=EXsd &3 X 10,000, 000& 10,000
Okon=sd W=EH X 4,300,000& 4,300
03 QIAHNHE2IHIEE 23,000 23,000 0
Ofstcolsl 2948l XA 23,000,000& 23,000
HAAHNES K 18,947,393 18,973,073 A 25,680




EX: XA I}
Bu: Fo)E N
el HOHQI=X B
. _ - SfE|
SN EHD B (3H) - MEAY - BAS ol &k o8 %@ﬁ
= 10,934,564
Al HI 7,918,236
T 94,593
=K & 16,576,896 16,576,896
= 10,874,614
Al HI 5,654,019
T 48,263
HoelA=2=20H X2 6,136,886 6,136,886
= 4,295,820
Al HI 1,841,066
301 et A= 6,136,886 6,136,886
= 4,295,820
Al HI 1,841,066
01 AR E & A 462 6,136,886 6,136,886
OHMeA= 6, 136,886,000 6,136,886
= 4,295,820
Al HI 1,841,066
HOHES(IIx) 1,140,000 1,140,000
= 798,000
Al HI 342,000
301 dEtE M= 1,140,000 1,140,000
= 798,000
Al HI 342,000
01 Al B & A 26 2 1,140,000 1,140,000
QXML (II=x) 1,140,000,000& 1,140,000
= 798,000
Al HI 342,000
HOHLES(NHARAS) 502,100 502,100
= 351,470
Al HI 150,630
301 et M= 502,100 502,100
= 351,470
Al HI 150,630
01 Al E& A 252 502,100 502,100
OZHLEH (XA 502,100,000 502,100
= 351,470
Al HI 150,630
0N THE =S X & 380,000 380,000
Al HI 380,000
301 et A= 380,000 380,000
Al HI 380,000
01 Al E & A 462 380,000 380,000
OO a4 380,000,000& 380,000
Al HI 380,000
ZOHCIDIE E4 2 2R X2 A& 30,000 30,000




A SXAS I
BE: HAHE N
el HOHQI=X B
= _ — d =
A - HE B (3A) - HRAY - B Ol &t o e
301 LEHZ 30,000 30,000
01 MI2ZE+5l= 30,000 30,000
OZMWOIIIY S8 L S NS N
30,000,000& 30,000
OEEMe s4dE XA 6,000 6,000
= 4,200
Al 1,800
301 LeBAF 6,000 6,000
= 4,200
AlH 1,800
01 MI2ZE 6= 6,000 6,000
OWLZe SLHEXJ ALY 6,000,000& 6,000
= 4,200
Al HI 1,800
Zopel ozHl XA 207,995 207,995
= 166,396
AlHI 41,599
308 XXM SO A 207,995 207,995
= 166,396
AlHI 41,599
10 3J/2SOHUHeZAEEALS I 207,995 207,995
O&ofel 2=Hl XA 207,995,000& 207,995
= 166,396
Al 41,599
MASEOHe MeH 2 ZAE K& 10,000 10,000
= 5,000
Al HI 5,000
301 LeEAF 10,000 10,000
= 5,000
AlHI 5,000
01 AR 2Z A 53 10,000 10,000
OMASZOC AEH L HAHl X &
10,000, 000& 10,000
= 5,000
Al 5,000
F2AYHOlS ABEH2 ==X& 6,000 6,000
Al HI 6,000
301 LA F 6,000 6,000
Al HI 6,000
01 MEIBEE 263 6,000 6,000
OBAFOIE ABLHOIZ 22X
6,000,000& 6,000
Al HI 6,000
HojQIEEIIN(HEEEIT) D2 12,930 12,930
= 10,344




A SXAS I
Bu: Fo)E N
el HOHQI=X B
= _ — d =
SA - BB B () - MM - BES Ol &t o e
-t 2,586
301 LEXZ 12,930 12,930
= 10,344
- Hl 2,586
01 MEIBEZE 05z 12,930 12,930
OZOMABERININ(MEEZIIR) L
12,930,000& 12,930
= 10,344
L Hl 2,586
Zofel gt AR el N (MLAH) 518,644 518,644
- 259,322
AlHI 259,322
301 LEMZ 518,644 518,644
=2 259,322
AlHI 259,322
01 MEI2EZE 46z 518,644 518,644
OFoHel dFE<0 XA 518,644,000 518,644
= 259,322
Al HI 259,322
Zopel gersE A Xl X (AI2EA) 67,074 67,074
= 33,537
Al HI 33,537
301 LPENF 67,074 67,074
- 33,537
AlHI 33,537
01 MEIBEE 263 67,074 67,074
OFofel dpradxtel X2 (AlZHA)
67,074,000 67,074
= 33,537
Al Hl 33,537
ZOoHe =EXELXel XA 238,680 238,680
= 119,340
Al HI 119,340
301 LEEAZ 238,680 238,680
= 119,340
AlHI 119,340
01 MEIBEE 6= 238,680 238,680
OFe sXsgLXel XA 238,680,000 238,680
= 119,340
AlH 119,340
oS (82H) 5,520,000 5,520,000
= 3,864,000
Al 1,656,000
307 21201 A 5,520,000 5,520,000
= 3,864,000
Al HI 1,656,000




2AMd: SXALS
HE: oS X
el ZojeI=x B CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
05 RIZHRI & 3 5,520,000 5,520,000 0
OXHESK A (BIRH) 5,520,000, 000& 5,520,000
=2 3,864,000
Al 1,656,000
ZojCl g S X2 (AlHl) 403,218 403,218 0
Al HI 403,218
307 21201 A 403,218 403,218 0
AlHI 403,218
05 RIZt2IEt = 403,218 403,218 0
OOl & s (Albl) 403,218,000 403,218
AlHI 403,218
SSEXINZN 5,370 5,370 0
= 3,759
Al 1,611
307 21201 A 5,370 5,370 0
= 3,759
Al 1,611
05 BIZERIE 3 5,370 5,370 0
OgsExIda0 5,370,000& 5,370
= 3,759
AlHI 1,611
LEMEAEA TR 1,189,878 1,189,878 0
= 832,915
AlHI 356,963
307 glz2tol & 1,189,878 1,189,878 0
2 832,915
AlHI 356,963
05 RIZHRI &3 1,189,878 1,189,878 0
OggmaulA XI& 1,189,878,000& 1,189,878
= 832,915
Al 356,963
AHLY bt XA 2,193 2,193 0
= 1,535
Al HI 658
307 21201 A 2,193 2,193 0
= 1,535
Al HI 658
05 RIZHRI & 3 2,193 2,193 0
Oguegia 2,193,000 2,193
= 1,535
AlHI 658
LEHMS RPR4EXA 4,000 4,000 0
= 2,800
AlH 1,200
307 gl2tol & 4,000 4,000 0




A SXAS I
HE: HUKS K
ool ZojelEx B (B9 ®R)
5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
= 2,800
AlHI 1,200
05 RIZtE = 4,000 4,000 0
Oggaofe 22 deladg XIF 4,000,000 4,000
= 2,800
Al 1,200
LA FAESMHUAXNR 101,643 101,643 0
= 71,150
Al 30,493
307 21201 A 101,643 101,643 0
= 71,150
Al 30,493
05 RIZtelEt = 101,643 101,643 0
OLLHMO FABSHYA X
101,643,000& 101,643
= 71,150
Al 30,493
LI s SSMHHIA X 78,608 78,608 0
= 55,026
Al 23,582
307 21201 A 78,608 78,608 0
= 55,026
Al 23,582
05 RIZt2IEt = 78,608 78,608 0
Ooggze &s ssAHMUIAXRA
78,608,000 78,608
= 55,026
Al 23,582
FHAANE ES 5,677 5,677 0
201 LBt 4,977 4,977 0
01 At 22l 4,977 4,977 0
OHM HBA QIAHR OHLHE I M=
15,000& 202 300
OHMe NsXHEX M= 1, 100& =3, 34204 3,677
OF2AZMe =3t 100,000 62 600
OAZZ0He HEXAEIA ME 800& x500H 400
203 ¥R =&l 700 700 0
03 A=A H =AY 700 700 0
OIS 2 AIZSAA 2tE 3 700,000 700
ZH=Xsd g5 N 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 It M AHE L 10,000 10,000 0
OZMA=XEE &5 X 10,000, 000& 10,000
ZOHA=ETIAIE XA 2,363,167 2,388,487 A 25,320




EX: XA I}
HE: oS X
gl FHAsAE X (el &)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 59,950
Al HI 2,264,217
T 39,000
ol E2XN 2 2HAA 997,666 997,666 0
Al H] 967,666
T 30,000
307 2iz2to| & 997,666 997,666 0
Al H] 967,666
T 30,000
05 QIZtR E 2 997,666 997,666 0
OHI=X & 2K 997,666,000 997,666
Al HI 967,666
=1 30,000
Aot oI =ESXs S22 89 42,100 42,100 0
Al Hl 42,100
307 QI2t0| ™ 42,100 42,100 0
Al HI 42,100
05 QIZtRES 42,100 42,100 0
OAGH? Hoel=X2 2= 29
42,100,000 42,100
Al Hl 42,100
e =2t ESAE 24X 428,749 428,749 0
Al H] 428,749
307 giztol A 428,749 428,749 0
Al HI 428,749
10 MM SAANEEHESIGHEX 428,749 428,749 0
OZOHRl F2 BESAIE 2 XS
428,749,000 428,749
Al H] 428,749
ool XEeel 22 A A X 31,563 31,563 0
Al HI 22,563
T 9,000
307 2iz2to| A 31,563 31,563 0
Al H] 22,563
I 9,000
10 MM SAANEEHESIGHEX 31,563 31,563 0
O Xggol 22 & A A K&
31,563,000 31,563
Al H] 22,563
24 9,000
ZOHCIZATHEAI L (BESEAE) 29 XA 208,077 208,077 0
Al H] 208,077
307 2iz2to| & 208,077 208,077 0
Al H] 208,077
10 MM SAANEEHESIGHEX 208,077 208,077 0




2N
X ZH -
L= B

el

= X Abe! 3t
HoHNs X
ZOHQIZSXAIL X &

A - HE B (3A) - HRAY - B Ol &t o San HmEET
OZNOIHANEAL (E6HAE) 28 Ad
208,077,000& 208,077
AlHI 208,077
FHUSSHEIE 2SN 381,625 381,625 0
Al 381,625
307 gl2tol & 381,625 381,625 0
Al 381,625
10 AL SXAIEEE2EH EX 381,625 381,625 0
OZMASSH&IE 2HXF 381,625,000 381,625
Al HI 381,625
STSEMHL XM dH XA 149,875 149,875 0
= 59,950
AlHI 89,925
307 glz2+ol & 149,875 149,875 0
= 59,950
AlHI 89,925
10 ALSISXAIEEE2EH EX 149,875 149,875 0
OZZT0HQ TYMBME X2
149,875,000& 149,875
= 59,950
Al HI 89,925
SSHMHL TNEHH2HEE 29 18,000 18,000 0
AlHI 18,000
307 glz2tol & 18,000 18,000 0
AlHI 18,000
10 AL SXAIEEE2EHEX 18,000 18,000 0
ST NEgdaeEds 29 N
18,000, 000& 18,000
AlHI 18,000
NEMetdy AR HEE3HZ XA 14,000 14,000 0
AlHI 14,000
301 LEXZ 14,000 14,000 0
AlHI 14,000
01 Ml2EZE 06z 14,000 14,000 0
OXNEHEHH E2Z0 HEFEHS X
14,000, 000& 14,000
AlHI 14,000
FOHAEXRD I eldlH 29 91,512 91,512 0
Al 91,512
307 glz2tol & 91,512 91,512 0
Al 91,512
05 BIZHRI & 3 91,512 91,512 0
OFMAB=III=cldEH 28 91,512,000& 91,512
Al HI 91,512




A SXAS I
HE: oS X
Celt SRFAIYS WY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SSEIAMERE X&E 7,330 7,690 A 360
SEXIA 28 KA 7,330 7,690 A 360
201 Let24d] 3,370 3,370 0
01 At 22/l 2,650 2,650 0
OA2I2Z20 MM AA QI
165,600 1601 = 2,650
02 =24l 720 720 0
OEZ XA &IEHE SAUFH MEB
20,0003 «3CH+122 720
202 4Hl 3,960 4,320 A 360
01 = LH 4 Hi 3,960 4,320 A 360
OXZA&E &3 10,0003 33| x11H 123 3,960
HAHASFHNE 16,004,071 16,802,004 AT97,933
= 14,394,664
AlHI 1,119,585
T Hl 489,822
HAANSFHIAE 16,004,071 16,802,004 AT97,933
= 14,394,664
AlHI 1,119,585
T Hl 489,822
FH=0O 15,994,071 16,792,004 AT97,933
= 14,394,664
AlHI 1,119,585
T Hl 479,822
301 LEMZ 14,331,743 15,305,623 A 973,880
= 12,898,569
AlHI 1,003,222
T Hl 429,952
01 MEI2EZE 05z 14,331,743 15,305,623 A 973,880
FAHSO 14,331,743,000& 14,331,743
= 12,898,569
Al 1,003,222
I 429,952
403 MtXISHHE X201 E 1,662,328 1,486,381 175,947
= 1,496,095
AlH 116,363
L Hl 49,870
02 SO 2SHHEHAE X 2 E AL H 1,662,328 1,486,381 175,947
O=6dRXN=0 1,662,328,000& 1,662,328
= 1,496,095
AlHI 116,363
T Hl 49,870
SAUUOIIHE X& 10,000 10,000 0
201 Let24d] 10,000 10,000 0




A SXAS I
BE: HAHEZHAL
CHel: HAAHEF=HIAHA (chel & 9l)
SA - BB B () - MM - BES Ol &t o San HmEET
02 =224l 10,000 10,000 0
OZIUUOIIEW Bets AIlZ
10,000, 000& 10,000
HRES(SXAE D) 100,000 0 100,000
SHEXNE 100,000 0 100,000
Lo=Rog 2 100,000 0 100,000
702 J1S3HES 100,000 0 100,000
M II2dE3 100,000 0 100,000
Ok =RXJiz &He 100,000, 000& 100,000
2L ZH (SX AL D) 121,656 23,624 98,032
Jl=&l 121,656 23,624 98,032
Jl223 121,656 23,624 98,032
201 Let24d] 19,416 18,824 592
01 At 22l 19,416 18,824 592
ORNME2E+=EHl 9,396,000 9,396
OJlz2ge==a8 &l 10,020,000& 10,020
202 oddl 97,440 0 97,440
01 = LH 4 1l 97,440 0 97,440
OJlege+=8 0l 97,440,000 97,440
203 YR =&l 4,800 4,800 0
04 RENSELR=LH 4,800 4,800 0
ORN2IYS =2 4,800,000& 4,800




